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INSTRUCTIONS

Each question ig printed both in Hindi and
in English,

Answers must pe written in the mediyum

to you, which must pe stated clearly on the
cover of the answer-book in the, space provided
for the purpose. No marks will be given for
the answers written in a medium other than
that specified in the Admission Certificate,

Candidates should attempt Questions no. 1
and 5 which are compulsory, and any three
of the remaining questions selecting at least
one question from eqch Section,

The number of marks carried by each
question is indicated al. the end of the
question,

Notations /terms used have their usuaql
meanings, unless otherwise indicated.

If any data is considered insufficieni, assume
suitable value and indicate the same clearly,

Newton may be converted to kg using the
equality. 1 kilonewton. (1 kN) = 100 kg, if
found necessary.

? specified in the Admission Certificate issyed
S

Educational Material Downloaded from http://www.evlldyllpartf;:;n/
Get CBSE Notes, Video Tutorials, Test Papers & Sample Pap



g

& eVidyarthi .
FREE Education -

SECTION A

1. (a) Abody of mass 1000 kg is acted upon by a force of
80 Newtons which increases uniformly until it

becomes 100 Newtons in 4 minutes. If motion

e -

starts from -rest in the-direction of force, find the
velocity of the body-.at the end of 3 minutes from
the start-and the distance traversed,

bt
M:

(b} A steel rod of length 300 mm and diameter 30 mm,
is subjected to a pull ‘P’ while the temperature is
100°C, If the total extension of the rod is 0-40 mm,
calculate the magnitude of ‘P’. Take ‘o’ for stee] =
12 x 1076 per °C and E = 0-215 x 1012 N/m2,

i 1%

12

[l
=
A
1
|4
2
i
A
-
-
z
i
!
=
4

E

(c) Ifthe velocity'—cémponents of two-dimensional flow

are
y3
U= -3— + 2x — x2y and
3
=xy2 — 2y - X
Uy = Xy“ - 2y 3 |
h Y
Obtain

(1) Stream function - .

(ii) Discharge passing between two points (2, 3) _
and (3, 4), 12

ey
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100 =[&7 8 ST § 1-afy s a) feem & fagm
Wﬁﬁgnﬁaﬁwmé, @ fiT =
amw@mﬁqz%ﬂ?rﬁénw@mamﬁa
feat < @ o ? 12

() TF TR $ 55 W, T T 300 mm
aﬂFSOmmé,W ‘P’?’I”T(ET%WHW
100°C%l?¢fi’®3ﬁﬁéﬂf§ﬁ;o-4ommﬁ,
a9 P’ H QAT 99 AT | T 3 fow
A ENT o’ = 12 x 1078 §fF °¢ oy
E = 0215 x 1012 N/m?2, 12

(H)Hﬁ@—ﬁmm%éﬂmﬁwﬁﬁﬁ%}:

‘3
b 2 X
U, =xy —2y-——é—
I Hifew .

(1) " el ~

@ T fgelt 2, 3 (3, 0 ¥ IR Ay
| T

12
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(d) An open cylinder of 40 em diameter and 90 cm

‘height is with water level upto 40 cm,
If the cylinder is rotated at 160 r.p.m. about its

axis, calculate the pressure-head (i) at the bottom

of the cylinder at edge and (ii) at the centre of the
cylinder at bottom. ] ' 12

- nﬁ‘.’:'l-;‘l.ﬁ‘“ e

(e) A vertical rectangular gate is 3.0 m high and
2:0 m wide. It is hinged'at the top. If the water is

Ei'ﬁ‘.{\ 5

standing upto a depth of 1-5 m above the top edge

of gate on one side, determine the force required at

h SYNAT VAR Y

the lower edge of the gate so that gate remains

_closed.' 12 :',

Y

<- F:(Force)

C-DTN-L-DFA 4 [Contd.]
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() & g 9w, frgey - 4 >
| , STHSI S 40 e e
90 cm %_, ff 40 cm WWW% l- o
?lﬁ{ 3?1? ) 3_9% 3 % Trdey 160 rp.m. I
T 12 2, RRIEERL R L B T —
aﬁr%@ww(ﬁ)éa?aﬁ%%fs:WI 12

©) Q?Eem?lm( FER FUE 3.0 1 357 T 20 m
S %%Lﬁ%’?ﬂﬁﬂﬂﬁ@?ﬁ%laﬁm%
E’ '-mm%ﬁ1—5ma$w%®ma“ﬁ-mﬁﬁ

é aam%ﬁaﬁfﬂi'wmmﬁmﬁ

§
.
3
g
i
;
.
i

12
v__
o o p
1-5m
F —— r' QN
|
] 3:0 m
P
~~ F (1) ‘
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2. (a) A railway truck is loaded so that the pressure on

‘each wheel is 5500 kg weight and the centre of

gravity of the loaded truck is 1-5 metres above

the rails. The centre-to-centre distance of the .

wheels on an axle is 1-75 metres.

Find the pressure on the inner and outer-rails *i
when the truck is going. round a curve .of :‘
440 metres radius at 48 km/hour. g = 9-8 m/s?. 30 ]
() A EKaplan turbine is working under a head of f
75-0 m with a speed of 160 r.p.m. The rate of flow ‘*‘S
for the turbine is 200-0 m%/s. The diameter of the ﬁ
runner is 6:0 m and diameter of hub is 3-0 m. The ﬁ
turbine is developing 90000 kW power. %
Determine : 15

(i) Flow ratio
" (ii) Speed ratio
(iii) Specific speed
(iv) Overall efficiency
(c) A trapezoidal channel has a side slope of 1: 1.
It carries flow of 12:0 m%s at a velocity of 2:0 m/s.

It is to be designed as most economical
cross-section. Calculate the area of concrete lining
for 100-0 km long channel. 15 |

C-DTN-L-DFA 6 [Contd.]
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2. (31) T& W9 & & 39 d@ Wika R a2

T 1.75 WX 7 |
V& g, U& Mo % W fFael e 440 Hiex
8, 48 kmvhour ¥ ST T &1 & 37ET T4 AW aren
@ =@ W g 9 @ R FIT SN |
g = 98 m/s2, 30
(F) U T WET 75:0 m TNW | 1601-._I_;.m.maa
W e | TEET % T T8 e 2000 m¥s &
TR H G 60m a9 BT F 49 30m ¢ |
WS 90000 kW Yifth forerfee & @@ 2 |
I HhifST 15
() WO STUM
i) < A
Gi) fafFe =
(iv) Fa <&l
(@) & Tocisl aifes & ored q90mar 1: 18 | I9H
20m/s & T § 12:0 m%s 1 Y18 & @ 2 |
W dfmen e spRe-Ee 3 fau
3UHTIT HET B | 100-0 km Telt HEeHT & fow
hehlc ST & GT% §id SIS | 15
C-DTN-L-DFA 7 [Contd.]
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3. (a) 'Draw the Maximum Shear Force and Bending
Moment diagrams for a girder of span 25-0 metres
traversed- by ‘a load of 2:0 kN extended over .a
length of 6-0 nietres.. 15

(b) A cast iron column of circular section of 20-0 cm
external diameter and 2-0 ¢m thickness and of
height 4-0 metres is required to carry 15-0 kN at
an eccentricity of 2:5 cm, If both ends are fixed, find
the extreme stresses in the column section. 15

el i .._.r.ih\. ey

() A20m wide and 6-0 m long plate moves at a
velocity of 1-75 m/s parallel to its length, through
a stationary air of density 1:22 kg/m? and viscosity
of 1-8 x 10~® Ns/m?,
Determine the drag force on one side of a plate
assuming .

Y iy waa™ BN T L v e s

(i Laminar flow boundary layer.
(ii)  Turbulent flow boundary layer, 15

(d) Draw following water surface profiles of gradually
varied flow, stating conditions Jjustifying the'ty_pes __
of profiles : 15 1

(i) M, type profile
(i) 8, type profile.
(i) Cq type profile

(iv) A sluice gate in a channel with mild slope to

supply water in a channel from reservoir

C-DTN-L-DFA 8 [Contd.]
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3. () TF 25-0-HX ﬁﬁa‘jﬁr A MR W, Th 2.0 kN

(1)

(H)

)

& AR S 6.0 MeX ohErE. aF A &, iy

fepar T 2 | TR F e aifpaw stowger @

@mﬁ%maﬁavﬁ@aaﬁwm

_T%IWWW2OOCm3ﬁITh?I§20cm gt
FE 4.0 W 2, 150 kN H TR 25 cm

IChSAT Y TP ST EVEE § | A 5 AR
R a5 €, 99 =9 wRese ¥ o siel 379
FIfST |

i arg ¥, e I 122 kg/m3 ® a9 T

18 x 105 Ns/m? 8, T 2.0 m €T T 6-0 m &t

Qe AN TEE F ER 175 ms F AT F U

@R

G

@) wWiE yEE 9 W g |

Gi) foefer yag oW 9w @ |

FATT uRadl e % fau frafhted s a0

NHEA T a6 FFR & N5 & g
mwaﬂﬁaﬁﬁgqmaﬁﬁwﬁwﬁﬁq

@) M, T8Y NEEA
Gi) S, T&7 NHEA
(i) €, TFT NEEA

Gv) T dfeH & He 0T Ik WS A S
afgH B TH FT | I U= T @

15

15

15
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4. (a) A steel beam'is of cross-section of right triangle of
dimension 40 mm wide and 60 mm depth having
yield point. stress Y = 280 N/mm?2. Evaluate the
Fully Plastic Moment for the condition that the

neutral axis passes through point ‘B’ as shown in

the figure below and divides the right triangle into ,
two equal triangular parts. Assume that the plane i
of the load passes through the centroids of two

triangles thus created. 30 |
b o —f
JUEEEAN A
AS
B\
n
Yy .
Plane of the Loads

C-DTN-L-DFA 10 [Contd.]
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4. (aw)@wwa%ang-méaﬁgamgé
forgan famg 40mmﬁ3|'$cm60mm}mﬁ
g WWWWWY;%ONMM
$ | ow s ¥ fAw e ST OSCTE
et T A v seE o A f
WWM‘B’@'@E{WW@'W@
a-wﬁgﬁméﬂﬁﬁﬁﬂmaﬁwam

| i 5 W @1 S T TR T A B

¥ Sad ¥ eER e g | 30

; H 40 mm __7‘, n )
‘ ST TS

s

60 mm
| N
C
I g |
ORI 1 GHAA
L C-DTN-L-DFA i1 __ [Contd.]
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(b) If the velocity of the flow through -orifice is
dependent on diameter of orifice (D), head (H), and
acceleration due to gravity (g), by using

Buckingham’s method, frame the equation of |
velocity through orifice. 15
(c). Water is flowing through two pipes one of 10 mm

diameter and second of 5 mm diameter and both

are discharging in 12 mm diameter pipe. The rate
of flow in 10 mm diameter is 1-0 c.c/s. If the
Reynolds number for 12 mm. diameter-pipe flow is
4000, determine the rate of flow in 5 mm
diameter'pipe. Consider kinematic viscosity equal
to 6:5 x 10—‘2 m?/s, 15

C-DTN-L-DFA 12 [Contd.]
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| (@) df SiffAT 9 A% SR W oA, AEE F

! =@ (D), T () T91 Teed @ (g) Wl

| Al 8, T aeEd @l ®oEn w1 g
AP ¥ S I A 9T % o wEe
FART | 15

(@) | Al § o vaed & @7, W W AW
10mm%-.ﬁ?ﬂ @ﬁﬂm 5mm%maﬁ-€f'
TF 12 mm 9 Al At § e w1 §
10 mm 9 Il AfdH § YER@ 10 c.cls 'é |
ﬂﬁlzmmmaﬂaﬁwﬁm%ﬁ’"{ﬁ@
T 40008, 9 5mm G W AfeH § WE@w

65 x 1077 m%s & | 15
£
;
| ..
# C-DTN-L-DFA 13 [Contd ]
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SECTION.B

5. (a) A pretensioned beam 250 mm wide and 300 mm
deep is prestressed by 12 wires eacl_l of 7 mm
diameter initially stressed to 1200 N/mm? with
their centroids located at 100 mm from soffit,
Estimate final percentage loss of stress due to
elastic  deformation, creep, shrinkage and
relaxation using IS 1343 — 1980 Code and the

following data :

Relaxation of steel stress = 90 N/mm?
E; = 210 kN/mm?2, E, = 35 kN/mm?
.Creep coefficient ¢ = 1.6

Residual shrinkage strain = 3 x 10~ 4 12

(b) Design the battens for top chord member of a steel
bridge truss. It is 6 m long and subjected to an
axial load of 600 kN. Slenderness ratio is
limited to 70 — 90. Allowable compressive stress =
100 N/mm?, The member consists of 2 ISMC 175
with a steel plate of 240 x 8 mm at. top.

-

C-DTN-L-DFA 14 [Contd.]
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s

5. (37) ©h Yhaad @ T uE, S 259_.mm%|“1:é>pf LRl

300 mm &Y 8, B 12 TR ¥ w1 ¥3F &
T 7 mm 8§, 1200 Nmm? & =il 0 @
e fhear T 8 | 3 R % 5% IR §
100 mm U 3R § | IS 1343 — 1980 SIS 4T

=g gfdset &t fagifd = 90 N/mm?

E, = 210 kN/mm?, E_ =35 kN/mm?

e feequT TOT ¢ = 16

sty §gud foshfd =3 x 1074
H YA FA Y, Ny fawyer, g fawo,
Y= aqw fagita & @wor sifqn sfawa sfaad

T 1 3Twe SIS | 12
(F) T T U FE F IR Shar srEd & g s
(Battens) 1 fEHH FTT | 78 6 m T g a
T8 W 600 kN N 3Fg R ME T § |
T (FHIAT) I 70 - 90 T WK § | HAA
ditgq wfeed = 100_N/mm2% | I8 SFge &
ISMC 175 § &1 8 59 Y W 240 x 8 mm H
T e o 2 12
C-DTN-L-DFA 15 [Contd.]
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o

/

ISMC 175

|
l
]
I
|
I
X=—H=~q-=t-
1
I
|
I
|

Properties of ISMC :

A=2438cm® I =12233cm*
w = 19°1 kg/m I, =121-0 em?
te=10-2 mm = 7:08'¢cm
t,=957mm ro,= 2:23 cm

' cyy'='2-20‘cm

Allowable Stréss in

Ir Axial Compression -
N/mm?
70 107-5
80 10047
90, 928
100 84:0
110 753
120 67-1 )
130 59-7
140 53-1
C-DTN-L-DFA 16 [Contd.]
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y ‘/240 X 8
— s "
I
|
I
X-—H—-"7T-—1tI-X

ISMC 175 :
—]

A=24-38cm® I =1223-3 cm?
w = 19-1 kg/m. I =121-0 cm*

t.=10-2 mm xx~708cm
t, =57 mm yy-223cm
Coy = 2:20 cm
Ve 3l wdtea # sy
PA A N/mm?
70 107-5
80 100-7
90 92-8
100 84-0
\ 110 753
| 120 67-1
130 59-7
T 140 53-1
C-DTN-L-DFA 17 -
it~
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(c)

(d)

{e)

(a)

- C-E—— SRR R
- -

Design a short concrete column to carry an axial

factored lead of 1600 kN, Use M 20 concrete and

Fe 415 steel. Unsupported length of column is

3 m.

A partially saturated sample from a borrow pit
has a natural moisture content of 15 percent and
bulk unit weight of 1-9 g/cc. The gpeciﬁc gravity of
solids is 2-70. Determine the degree of saturation
and void ratio. What will be the unit weight of the

sample on saturation ?

A masonry dam has pervious sand as foundation.
Determine the maximum upward gradient, if a

factor of safety of 4 is required against boiling. For

‘the sand the porosity, 11 = 45% and specific gravity

of solids, G = 2-65.

For the retaining wall shown in figure, the
retained soil is well drained sand having unit
weight of 16 kN/m® and angle of repose 30°,

The safe bearing capacity of the soil below is

170 kN/m?2. The coefficient of friction between.

concrete and soil below is 0-73.
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(@)

-
¥

(W) T oY e wY # femer s o)

1600 kN T 3%&fl9 e 9 987 T & | M 20
SHHIC T Fe 415 TR & ¥4 e | @ 3
ARG daE 3m 2 1

T GO § s Wgw TR F Ik @)
AT 15 IOV T 9% THE A 19 glee § |
SR Yerdl FSTRE T 2070 8 | Wgw &
i o R e W AT | dgd Y w
T F U R F @ ?

U femrE sy # fa oo awg 9 @ oo
G g FAVE GET T 4 B, T
HYHTH FT FEURT TG HC | A F g
TR, 0 = 45% 991 I FT SRS T,

G, =265 2 |

6. (m)ﬁiﬁﬁﬁﬁﬂﬁqﬁwﬁﬁﬁ,ﬂﬁmﬁﬁw

-

16 kN/m?® 791 fosime &io1 30° @ | 419 &) gy &
GURIA YRUT &l 170 kN/m? & | Sl aar 1)
F G & 9 w6 IhE 073 F |

12

12

12
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* Find the factor of safety against sliding and -
overturning. Fing eccentricity associated with
vertical load, Check: that thicknegg of stem ig
sufficient and find vertical steel required in stem
at its base and at 2 metres from top. Ignore passive
Pressure while checking stability,. Draw neat
sketch showing the steel of stem,

X7 _T
s 4m
0-55m e 16m N
045 m | '
4;.1 m—F | _H.__I‘G m-——y
04 m
C-DTN-L-DFA 20 [Contd.]
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F YR W e fIrey ¥ 2 Hiex 41 siavas
FEATe $ & ¥ e | R T W e
AT I A ST W B Q| @R 75 &
| THI %! T g oS @ FART | 30
27
|
[ v
! 4 m
I.
&
| 0-55 m | 1'6m
¢ -
0-45 m
| | |
L —1lm—it & 16 m ——4
0-4m
'C-DTN-L-DFA 21 [Contd.]
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(b) (i) A strata of normally consolidated clay of
thickness 3 m is drained on one side only.
It has a hydraulic conductivity of
k =5 x 1078 ¢cm/s and coefficient of volume
compressibility m_ =125 x 102 cm?s.
Determine the ultimate value of the
compression of the stratum assuming a
uniformly distributed load of 250 kN/m2
and also determine the time required for
20 percent consolidation. 20

(i) How is consolidation different from
compaction ? What de you understand by the
terms — immediate settlement, primary
consolidation and secondary consolidation ? 10

7. (a) Figure shows the cross-section of a plate girder.
The shear force at this section equals 800 kN.
Using 20 mm diameter bolts design (i) Flange to
web connection, (ii) Flange angle to cover plate
connection.

360 x 20
20 mm

20,111111.-—-—-—9._‘l

Z ===~ Edge of the web
ISA 130 X7
130x12 [
1800 é 1790
ISA 130 x [
130 x 12 -
v ame “- Edge of the web
20 mm 1‘ 1 A
80 80 36_0 % 20
C-DTN-L-DFA 22 [Contd.]
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@ @ O S g WS 3 m A,
Yoel T Ued vl 8 | 39 Sy
l TEHA k=5x 108cm/s  TAT  STIGH
| Yiigdd OTF m, = 125 x 102 cm¥s B |
| ,_wﬁaﬁ'awzsom/mwmﬁgq =R
1 TGS A J1a HifC d9 20 Sfavd
o ¥ foT Evgs g &l I
i_ HIST | 20
G EEe, @ 4 34 B ® 7 i@ g9m,
! s g g fidias deme q?fr T a7y
F GHIQ § 2 10
7. (a)ﬁaﬁ@@znﬁ%qﬁ%ﬂﬁrﬁ@mwél
=7 fede W YUY & 800 kN & T B |
_ 20 mm A % A B WA T Y AFTH
d El-ﬂ'ra'q 30
() TS ¥ YT HaNH,
(i) A @m J ayERer g GEE |
360 x 20
20 mm
i 20 mm — —= ﬁa'[ -
4 1ISA 130 X
!’ ‘ 130 x 12
- 1800 6 mm_ 1790°
ISA 130 x
| 130 x 12
5 \ ¥ et FR
. /f-T 1
20 mm | Y
80 80 360 x 20
C-DTN-L-DFA 23 [Contd.]
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(b))

(1)

Tl T -NL._‘!"'—"' TETwTTT e

Explam clearly the difference between the
‘active earth pressure and passive earth
pressure. Give two examples of each state.

A retaining wall .6 m high, with a smooth
vertical back ig pushed against a soil
mass having ¢’ = 40 kN/m2, ¢’ = 15° and

= 19 kN/m3. What is the total Rankine
pressure if the horizontal soil surface carries
a uniformly chstnbuted load of 50 kN/m2 ?
What is the point of apphcatmn of resultant
thrust ? :

8. (a) Design a two way slab of size 35 m x 45 m to
support an imposed load of 2 kN/m? and floor finish
of 10 kN/m2. Two adjacent edges of slab are
discontinuous.

Assume moderate exposure condition. Use M 20
grade of concrete and Fe 415 HYSD bars, Assume

depth as per L/d ratio. Adopt 10 mm dia bars. Safe

shear stress is given as 0-40 N/mm?2, Draw one
typical cross-section along longitudinal direction of

slab and show details of steel. Use following data for
calculating moment :

X

Short span coefficient o,

. Long span

Negative Po it'vé' o
galy . coefficient o

moment at moment at

continuous edge mid-span

10

1-2 0-060 0045 | 0047
13 0:065. | 0-049 0047
C-DTN-L-DFA 24 [Contd.]
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@ @ Hmiﬁrmwﬁﬁa;—q{mmﬁamﬁ
Wy FNT | yoF fefy & far @ seron

: < | 10
i) T Seures ff 6 m ST 8 T9T 79 v
{1 CFEM YR fEew R e T a9

TEAE & foeg gden S 2 fygs faw
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(b) @
(ii)
C-DTN-L-DFA

TR - e AETE e w o oo Iu--m-—-ll-l T ——

A group of nine piles, 12 m long and
250 mm diameter, is to be arranged in
a square pattern in clay soil with an
average unconfined compressive strength of
60 kN/m2 Work out the centre-to-centre
spacing of the piles for a group efficiency
factor of 1. Neglect the bearing at the tip of
the piles, (For ¢, =30 kN/m? assume
adhesion factor o = 0-9)

What is a “standard penetration test” ? How
is the data obtained from the standard
penetration test utilized in foundation

design ?
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yeal & Fax I A § e s i, 4
foremT 3eeie 39 gavr-uA # faar war &

3R §9 AreTH @1 WE Jovid FOR-GRAD D -
TT-I5 ) 3ifba [l w @) faar sEr

TET | JA9T-U7 T} 3feeilad areaqq & 3ifaRee

3T e mregw & ford T IR R B i

781 faeiar |

go7 &&gr 1 3R 5 Sifaref & | gt gek d
W g GUS W HH-G-BH BB HeT gaax

fast i goi & FoR dforw |

'gﬁ?ﬂwéiﬁgﬁaamm$%#ﬁ?

e |

Waray/wraract gl el & 3T B

A il ;

&G Wit & Fifore 3R 3! e #ifo |

gia saeqad &, ar 1 [balgeT (1 kN) = 100

feam (100 kg) & MER W JeT B GE

fasciramy o uRafaa fsar s wwar & | |
Note : English version of the Instructions is printed on J

the front cover of this question paper. | *
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